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5a (277237 825 nn) 2 6a ('NT K5 2971 79R81)

v, 8777 ... NP 1IPY 92 NRY PIY N33 NRY 1R DR) WYRY DR 179D 92 NR NHY YYD 02 N .

2,07 4771 1P MIRG DR TPNYN R DIYRY NRS 19p0 XY .

7,42 #777: NPV 107D XY DIV INDY KD DIPF NRGY DYRIL NP NP RY

7,7 72702: 79K DY Y19 HT) MDY UTR N2 1T YR DR NRON TY 1YRG HY 93Yr XY 9pm n T oY Y .

287,35 02727 :72 NPIN TYR INIDI NN YR Y 72 NYYD DY) TN DAY 10X TIPYY Wavn KD .
2,02 %77 :0T9R "N IR 1IRYN NNIY NRY IRTH PVIR) IR YR .
5,07 87771271 IR IRPN OYTHN 1IHYN 'NNAY NR .

L. The source for n”> nm1 NwY — according to 1127 (who reject the 4 a7 Rn)
a. Suggestion #1: shaving of head of ynxn (v. 1), trumping napn MoR (v. 2)
i. Rejection: n" of wr N napn doesn’t apply to all (women excluded)
b.  Suggestion #2: shaving of beard of ym¥n (v. 1) — even if he’s a 113, trumping m» MR (v. 3)
i. Note: must refer to general oK, since we’ve already got “group-specific” moR in v. 2
ii. Rejection: perhaps 0102 are unique, due to their many unique nnxn
1. - we need n»n7 written here in “group-specific” n"»
c.  Suggestion #3: shaving of head of y1xn n (v. 1, trumping v. 4)
i. Rejection: 111 can be recanted (via non norw)
1. note: this is the reason we don’t apply n” nwy nmT nwY from Y7N¥n 1N
d. suggestion #4: back to noyw/nwx (v. 5)
i. attempt #1: 01 is odd phrasing (why not use r>xx?) - mamn
1. rejection: ©2T1 needed to establish 4 strings per corner
ii. attempt #2: y1v is superfluous
1. rejection: needed to demonstrate level of connectedness of strings for mxY MR
iii. attempt #3: NOYVW is extra
1. rejection: needed to teach 1 "mv YW (i.e. must be properly combed and woven
together to violate X5 MOIR)
2. defense: entire derivation (11 mv Mv as well as nan for Ny nMT NwY) from NVYY
II. Identifying a source for n13 11 v n" n»n1, such that we require "9y” to restrict ma»
a.  Suggestion #1: n'%n N™1 on N1v
i. Rejection: non has overriding significance, evidenced by the 13 covenants associated with it
b.  Suggestion #2: noa nvNY on N1V
i. Rejection: omitting noa carries a punishment of n12
Suggestion #3: PHNN NVNY on NIV
i. Rejection: nn is constant (constancy=significance)
d. Suggestion #4: hybrid of #1-3
i. Attempt #1: nom n9n (rejected: both carry punishment of 15 for non-compliance)
ii. Attempt #2: nm noa (rejected: both are max 71x)
iii. Attempt #3: nm n9n (rejected: both pre-figure n7in 1nn)
1. and if "%y mentioned in 75 Mnw was un N9y (cf. ¥ nan), all 3 prefigure n"n
Suggestion #5: 9y is required due to v. 6:
i.  limits X"R2 to non-violation of naw - default would have been to follow parents” wishes even
if it involved naw %% (n1d)
1. Rejection: could have been referring to 91nnnT 18 (leading a donkey — a W5 sans n12)
2. challenge: if R"R2 doesn’t trump even TnnnT XY, why not derive n"y nmT 1R nwY?
a. Don't argue that naw is regarded as more stringent, since Xin uses this p1oa
to infer that a parent’s wishes aren’t to be carried out if it involves any
violation (e.g. 01N NxrMV)
ii. Rejection: regarding v. 6, only way to fulfill XX is with 1o’R; re: ma», n¥5n is a viable option
. Suggestion #6: "9y is required due to v. 7:
i.  If not: for ynwn 'mnaw nr, R"1o that building p"nn’a is done even on naw
ii. Rejection: not referring to building ("\mwoy nna - violations which carry n42), rather 9nnn
1. Challenge: if p"nin»a 11a doesn’t trump even InNnT W5, why not derive n”y nmT wR nwY?
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